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gtﬂﬁﬁmmmtthEPEMntageufﬂﬂﬂr occurred
n the measurement of physical quantities A, B, C
and L are 1%, 2%, 3% and 4% respectively. Then

the maximum "Ii"Er_t'._EIltagB. of error 1n the
- 2 B
measurement X, where % = sl ,will be :
/s p? '
3 A
e o L-
o ()
(2)  16% E
(3 —10%
(4) 10%

In total internal reflection when the angle of
incidence is equal to the critical angle for the pair
of media in contact, what will be angle of

refraction ?
(1) 180°

@ o

(3) equalto angle of incidence

)ﬁ’ 90
A block of mass 10 kg 15 1n contact against the
inner wall of a hollow eylindrical drum ot radius
1 m. The coefficient of friction between the block
and the inner wall of the cylinder is 0.1. The
minimum angular velocity ne eded for the L‘I}'lindnlr
to keep the block stationary when the cylinder 18

vertical and rotating about its axis, will be :

(g=10m/s?)
(1) 1o rad/s

{2} ;—:_ rad/s

107adls

={4) 68 cm

it
L e
-

The total energy of an electro n i m i
ﬂfhiﬁr‘ih-—- 34 V. Its]ﬁnﬂ 2Tl
are, respectively :

I -34eV,—34 eV
@ —84eV,—68eV
(3) 3.4eV, —6.8eV
() 3.4eV,34eV

A copper rod of 88 cm and an aluminium . i 0
unknown length have their increase
independent of increase in temperature. The
of aluminium rod is : (g, = 1.7% 10 R K~ ang
0y =22x10 %KY
(1) 6.8cm

(Z2) 1139 em

A3] 88cm

A small hole of area of cross-section 2 mmfm&
present near the bottom ofa f‘-ﬂlF_ﬁ].].Eﬁ opent ]i *..!. .
of height 2 m. Takjjig.g= 10 m-"ﬂz'."ﬂ'lﬁ Tate Ef_ ;:,‘.- . ,I
of water through the apen hole would be nes 2
(1) 126x10 5mds

(2) 'BO9x10-H m23/s

(3 223X 10 8 mifs

(4) 6.4x10 5ms

When a block of mass M is suspended b; EI
wire of length L, the length of the wire becomes
(Li+I). The elastic potential energy stored
pxtended wireis; 3

(1) Mgl
) MgL

-1
W
Bir



J&r{?ﬁmnﬁﬂ ]:rlate capacitor of -::apamtam:e 20 uFis
- beingcharged by a voltage source whose potential

is changing at the rate of 3 V/s. The conduction
current thmugh the connecting wires, and the
dmp‘la_cement current through the plates of the
‘capacitor, would he, respectively :

{1} zero, 60 A
(2) 60 pA, 60 pA
(3) GO pA, zero
(4)  zero,zero

12. A 800 turn coil of effective area 0.06 m? is kept
perpendicular to a magnetic field 51079 T.
When the plane of the coil is rotated by 90° around
any of its coplanar axis in 0.1 s, the emf induced

in the coil will be : '5;
(1) 2V 7 y
@ 02V / 5
7
@) 2x1073V C\f Y
]
)  0.02V 8
A
A
13.  The unit of thermal conductivity is E\f
M) JmE-!

@) dm=rR-l

T iy '|

- prmm::ﬂnn:rftheradaua eru..:: Ot
Pis:

4.

po "
Al

— 3 cos2vwt, 1|,|.i.»1.ﬂ,ﬂ.r&+a nm
1

1) yt=

-
»,

2y ryt)=4sm ["2—] , where yin m .

|
i [
Ewt' o

Tt _ BNl
4 yB=3 mﬁ[‘ﬁ*) where yinm

......

15.  The displacement of a particle executing e

harmonic motion is given by

¥=A,+Asinot + B coswt.

i}

» Then the amplitude of its nam].lat:hn

'l[f (l:l ,L':'i.ﬂ + ..!:'!n2 ‘|‘B2

b
¥

o (EiE
® (ajra+p
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_ BII similar bulbs are connected as shown in the
ﬁg'ure with a DC source of emf E, and zero internal
resistance.

The ratio of power consumption by the bulbs when

(1) all are glowing and (ii) in the situation when
, two from section A and one from section B are
I glowing, will be :

| T N Qrf{.,’
| k44 ik \
(i ELA 1T'

13- A hollow metal sphere of radius R is uniformly
: chatg&d The electric field due to the sphere ata
distance r from the centre :
f}) increases as r increases for r < R and for

by -:"' iX= R |
=f' ; ‘fzarnaatmnraauwfnrr <R, decreases asr
= iner auﬂ&fnr r> E.

*

An ele

difference of 10, ﬂl}ﬂﬁ-"
i, (nearly) : (l:ll —-EHl‘D
1y 122x10¥m
@ 12.2x10"2m
@ 122x10 Ym
(4) 12.2nm

In a double slit experiment, when hght n
wavelength 400 nm was used, the angular wid! -11

of the first minima formed on a screen plar.ed ,n_
away, was found to be 0.2°. What will be the

angular width of the first minima, if the en 1;.
experimental apparatus is immersed in wa BE?

(Bywnter = 4/3)
(1) 0.266°

2y 055
(3)
(4)

21.

0.05°
0.1°

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

22,

Y
13 |
10V 10V
Circuit 1 Circuit 2
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B
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25. Ionized hydrogen atoms and a-particles with same
‘momenta enters perpendicular to a constant
magnetic field, B. The ratio of their radu of their
Pﬂthﬁ Iy oo, will be

TSR |
2y 12
@ 4:1
4 1:4

26 Which of the following acts as  circuit protection
device 7

conductor

s e ]

A disc of radius 2 m and. MASE mﬂ
horizontal floor. Its centre of mass b
20 em/s, How much work 18 needed t& St

(h 34
(2 30kd
(3) 24d
{4 1

29, a-particle consists of
(1) 2 protons and 2 neutrons only
(2) 2 electrons, 2 protons and 2 neutrons
(3) 2 electrons and 4 protons only
(4) 2 protons only

30, Two point charges A and B, having Ehﬂrgea
+ Q@ and —Q respectively, are placed at cari:mn

%

distance apart and force acting between th&m 15 i
L ﬂ

. If 26% charge of A is transferred to B than
force between the charges becomes

1) F & 9%
1:2j g T.-" Ly //: -
16 F{ j
16F
{3} -"9'_._ ? P ' .f. 0
Lo
@ e A

3 ? Y
31.. Which colour of the lzght ]r&a: ::.,

/ve]ength 7
1) red

{_ﬂ} blue
(3)  green
@) violet



33 Apa:ﬁcle moving with velocity t,;r 15 acted by three
forces shown by the vector triangle PQR. The
valﬂml:j' of the particle will ; {“;k

q‘a\_x
: B
7 5 i
A \
~
S / {
g
R Q :
(1) increase
(2) decrease
(3) remainconstant
(4  change according to the amallest force QR
" Ata point A on the earth's surface the angle of

dip, 5= +25°. At a point B on the earth's surface
‘the angle of dip, 6= —25° We can interpret

; th&t :
(1) A and B are both located in the northern
hemisphere.
(2)  Aislocated in the southern hemisphere and
B iz located in the northern hemisphere.
,-_(3{ A is located in the northern hemisphere and
~ Bislocated in the southern hemisphere.
@ P;. and B are both located in the southern

.........

e L 1e ey

S8,

39.

40.

Eoi i

rnt.aﬂng about 1ta_
torque rquln‘Ed to EEDP Bftﬂl" Eﬂrﬁﬁ

(1) 2x10 °Nm

2 2x107%Nm g
(3 12x10-*Nm

(4) 2x105Nm

Ill .-'IH !

In which of the following devices, the Eﬂﬂ.ﬂ’
effect is not used ?

(1)  induction furnace

(2)  magnefic braking in train
(3)  electromagnet
(4) electric heater

Body A of mass 4m moving with speed u co t‘.“‘ T,
with another body B of mass 2m, at rest. he
collision is head on and elastic in nature. After
the collision the fraction of energy lost by thé
colliding body A is:

(Y, e
) 9
o
@ 3
(3 2
) 9
A
@ 3 o4

Average velocity of a par'l:mla "r z S -Hh _____
one complete vibrationis: e



4l [Pk the wrong answer in the context wyh

- Inwhich of the following processes, heat is neither
absorbed nor released by a system ?

: ::-I'...... ._ ;

7

#-

(1) When the light rays undergo two i,
reflections in a water drop, 5 mnm
rainbow is formed. '
The order of mlﬂjltri 18 reversed in the

[rs)
M&nlﬁanrﬂnﬂnmnbnn'whfnhmﬁtm 1—4{

s towards the sun.

(# Rainbow isa combined effect of dispersion
refraction and reflection of sunlight 3

Twosimilar thin equi-convex lenses, of foca! length
fench. are kept comxally in contact with each other
such that the focal length of the combination is
F,. When the space between the two lenses is
filled with glycenin (which has the same refractive

index (p= 1.5) as that of glass) then the equivalen: ,}/

focal length is Fs. The ratio F| : F, will be -
ay 2:1

& 1:2

@ 2:3

4 3:4

A scap bubble, having radius of 1 mm. 15 blown
from a detergent solution having a surface tension
of 2510~ 2N/m. The pressure inside the bubhle
equals at a point 7, below the free surface of water
in a container. Taking g=10 m/s?,
density of water = 107 kg/m?, the value of Z, is -
(I) 100c¢m
2} 10em
@ lem
4 Ob5cm

P5
nlﬂt_‘ﬂ.ﬂ““ s n group of bacteria helpful in
CArTYIng oul :

1) Nitrogen foxation

J!I' Chemoautotrophic fixation

i3 mrtmfieation
()  Denitribestion (Lo

e
From evolutionary point of view, retention of the
female gametophyte with developing young embryo
on the parent sporophyts for some time, is first
observed in -

(1)  Liverworts
L) Mosare

7  Pleridophytes
{4} (symnosperms

Which of the following i= the most important cause
for animale and plants being driven to
Extinciion ?

#7T  Habitat loss and fragmentation
{7} Drought and floods
() Economic exploitation

['h r'l\h‘.‘“ EpECHE IOVREIDN

d{(‘ Aylem translocates -

(1} Water anly

(2]  Water and mineral salts only

@~ Water, mineral salts and some organic
nitrogen only

(4] Water, mineral salte some organic nitrogen
and hormones

jdf’ Which of the following statements 18 correct ?

%Il Cornea is an external, transparent and
protective proteinacious covering of the
eye-hall.

(2) Corneaconsmsts of dense connective tissue
of elastin and can repair itself.

(3) Corneaisconvex, transparent laver which
18 highly vascularised.

(4)  Cornea consists of dense matrix of collagen
and 1 the most sensitive portion of the eve.

Persistent nucellus in the seed 18 known as -

(1)  Chalaza
(9)  Hilum

(4) Tegmen



-'ﬂ*nth Wﬂi’uh ‘waﬁ f11'ﬂr. descrihed hg,r
~ Carolus Linnacus:

(1) Mqhglfer:: indica Car, Linn.
' .,EEJ'A  Mangifera indica Linn,

B8)  Mangifera indica
{4] Mangifera Indica

ﬁy ?ﬂmﬂﬂedﬁequence Tags (ESTs) refers to
T

Genes expressed as RNA

' (2)  Polypeptide expression
‘ 3
| (4)

DNA polymorphism
Novel DNA sequences

Grass leaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

i {1y Closure of stomata
(2)  Flaccidity of bulliform cella
‘ <(87~ Shrinkage of air spaces in spongy mesophyll

| (4)  Tylosesinvessels
5 Which of the following muscular disorders is
inherited ?
(1) Tetany
()  Muscular dystrophy
(3)  Myasthenia gravis

Botulism

Eu‘narraﬂﬂy written scientific name of |

" Qalect the correct ﬂpﬁm

{I} Eﬂ’ gtll Eﬂd lﬂ'ﬂ] ]!:‘EI.I'H'H'F L .J :;u_l_
'dlrecﬂjrmththEaﬁ&nrum e

(2)  11thand 12% pairs of ribs are connec
the stermum with the help oi :’L
cartilage.

(3) Bachribis aﬂatthmhuﬂaun&aﬂ he ri

are connected dorsally to the
vertebrae and ventrally to the ster n

There are seven pairs of vert.ehf sternd
three pairs of vertebrochondral and two pair
of vertebral ribs.

o

e
Which of the following sexually transmitiee
diseases is not completely curable ?

(1)  Gonorrhoea

(2) (fenital warts
L?)/’ Genital herpes
{4) Chlamydiasis

Which of the following statements iz not ¢

(1) Lysosomes have numerous hydr,_ ti
BnZymes,

''''

active under acidic pH.
L:‘l" BOS0MEs are membrane bound H_ A

Lysosomes are formed by the pro .
packaging in the Enduplaammratlmﬂ i

Which one of the fnllﬂwmg aqm:pnr' -
essentially required for growing micr
large scale, for industrial production of n:

TN

4" BOD mcuh.;tur
(2)  Sludge digester
(3)  Industrial oven
(4)  Bioreactor
58 Which one of the followi
r ﬂ

Emmfmgnnn,eﬂ Hona

s"lhhr" )
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|'~.¢|‘ ;I_H ih"’h -. o
RET

pct the ‘E&ﬁh T'f alﬂmupmwhiﬂh
all the above I:Imrsul:anam

@; ;it‘nnaliﬁm ﬂrhhmpndaandMnﬂuﬂm
FF{”QJ Arthropoda, Mollusca and Chordata
'-{‘Q ﬂm&hﬂm Mollusca and Chordata

= | 'T_'Im cihated Eplthﬂ]la] cells are required to move
PBI‘t.:r_ﬂlEE or mucus in a specific direction. In
humans, these cells are mainly presentin:

{1)  Bileduct and Bronchioles
(2) Fallopian tubes and Pancreatic duct
k (3) Eustachian tube and Sahvary duct

@r/ Bronchioles and Fallopian tubes

What is the site of perception of photoperiod
necessary for induetion of flowering in plants 7

&

(1) Lateral buds
| (2 Pulvinus
(3) Shootapex

Match the hominids with their correct brain

Bize

(&) Homo habilis G 900ce

%."-h}_ Homo nguuds:rmﬂimmr;e ) 1350¢cc

©  Homo erectus (i) 6o0-800cc

d)  Homosapiens (iv) 1400cc
g

Select the correct option.
@ b © @

ﬁ'i'} (@)
® o o
{1‘ “1 ;b _,f . |I"m .I-L

-'l 4

gl

2 -
e E 22 TRy
This experiment:

of I !Jumin.am.x

() Pink colour in FJ i8 ¢

: dominance.

(3) Ratiocof Fyis (Rad} o

.(ﬁ{ Law of Segregation doee not apply
pxperiment

.09// Which of these following methods 18 th'a.f'
suitable for disposal of nuclear waste !

a1

(1)  Shoot the waste into space

(2)  Burythe waste underﬂmtarcuﬂmmar: )

3  Dump the waste within rocks under deep
ocean

14'}/- Bury the waste within rocks deep below the
Earth's surface

&a) Drug called ‘Heroin' is synthesized by :

(1) methylation of morphine ,
u?.'!’jf acetylation of morphine : 4

(3)  glycosyvlation of morphine

(4)  matration of morphine

,‘D/ Use of an artificial kidney during hemnﬂmlyhﬂ

may result in ;

(@)  Nitrogenous waste build-up in the hnﬁ'_'f

(b)  Non-elimination of Excaaaputaamum- DS
Reduced absorption nflual-::mm;: ong fr qgrrr_;-
gastro-intestinal tract

{d) Reduced RBﬂpmdﬁnhﬁn--

Wh'lnh ﬂf t}he fuuu_m I}H q"L“: .:_,-_I_'I J ll._-.
E!Ilpl:apmtg 2 ;

M @and arec

= ,_-\.- (e
L l|.'|il_f|I ILI""

¥ i
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. Conidia are produced ‘exogenously and
, ascospores endogencusly.

Yeasts have filamentous bodies with long
‘thread-like hyphae.

II iy

i‘ ,,K/ Wl:u::h of the following ecological pyramids is
generally inverted 7

! (1) Pyramidof numbers in grassland
(2) Pyramidofenergy

(3)  Pyramid of biomassin a forest

(&~ Pyramid of biomass in a sea

# Select the correct sequence for transport of sperm
| cellsin male reproductive system.
(1)

Testis — Epididymis — Vasa efferentia
_ Rete testis—Inguinal canal — Urethra

Qaminiferous tubules — Rete testis
_, Wasa efferentia — Epididymis
_, Vas deferens — Ejaculatory duct
— Urethra — Urethral meatus

(3) Seminiferous tubules — Vasa efferentia
—» Epididymis — Inguinal canal
—» Urethra

l:i} Testis — Epididymis — Vasa efferentia

—3 Vas deferens — Ejaculatory duct
— Inguinal canal — Urethra
—3 TIrethral meatus

‘ ; hf‘*‘h“ following protocols did aim for

E
LT ey

ssion of chlorofluorocarbons into the

All fuse with the egg.

A o
(3)  Omnefuses mththaegﬂ.dthﬂrﬁ]“ (s J.
aynergid nucleus. o
_@( One fuses with the egg and other fuses: -
central cell nuclei.

,7'9'.’_‘ Which of the following pair of organelles does “ :’Lf.
contain DNAY
(1)  Mitochondria and Lysos0mes
2y  Chloroplastand Vacuoles § ‘6
GJ/ [ysosomes and Vacuoles | ’-.._.
(4)  Nuclear envelope and Mituchmig;in-r

@?r\ Which of the following glucose transporters is
insulin-dependent ? :

(1) GLUTI

(%) GLUTLL )
(3) GLUTIII '
(4) GLUTIV

}1.// Conversion of glucose to glucuseﬁ-phngphaw’gthé‘
firat irreversible reaction of glyeolysis, is cat:

by :

(1)  Aldolase

{31~ Hexokinase

(3)  Enolase

(4)  Phosphofructokinase

$2” Variations caused by mutation, as proposed by
Hugo de Vries, are : R T R

(1)  random and directional
(2)  randomand d:lmctiunh‘em 4
{3‘] Ay = T

"
Ty
R -
H -

b g gl oy
IS O oot =

Lo e 5 a . .

§ .II

-
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_ 'undxial matrix containg.

ar DNA molecule and riboso :;n e

..I:,:ﬁ  the correct sequence of or
: ; Bans in th
; ',"' tm canal of cockroach starting fr::-::

e e
-

P 2 3
. g ]'-"hﬂ.t‘j"ﬂx =3 ﬂenup ha EUE — Erup —*
- -E—lﬂﬂrﬂ — lleum — Colon— Rectum

@ Phﬂrynx — Oesophagus — Gizzard —
Lrop = lleum — Colon — Rectum

(3 Pharynx — Qesophagus — Gizzard —
Heum — Crop — Colon — Rectum

‘(4y, Pharynx — Oesophagus — [leum —

Crop — Gizzard — Colon — Rectum

g Eéle'r.rt..-tha hormone-releasing Intra-Uterine
(" Vaults, LNG-20
{2} Multiload 375, Progestasert

@ Progestasert, LNG-20
(4} Lippes Loop, Multiload 376
# (Concanavalin A is:
1) analkaloid
I:EJ an essential oil
(3 alectin
(4)  apigment

)j/ DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1) Isopropanocl
2 Chilled ethanol

3) Methanol at room temperature
_ {4)  Chilled chloroform

I -_ m thhe fuunwlng factors 18 IEEPUEEIhlE for

ﬂlﬂ formation of concentrated urine ?
-' / o Low levels of antidiuretic hormone.
f@q Mmﬂmmhypmmnmnwmwmdsumﬂr
'me&ﬁllm interstitium in the lkadneys.
Secretior uf

ery thropoietin  BY '.|

9

o

a e
{2; Inhreedhlgm Esﬂenhaf. !.n
in any animal. .
(3) Inbreeding selects harmfulrﬁmﬁi > genes
that reduce farhh[:y and 1_:-15:1 v
(#r  Inbreeding helpsin &::mmlulﬂ_ nof
genes and elimination of undesirakb ;
* Match the following genes of the Lac ﬂpemm m-
their respective products
(a)} 1gene (1) B-galactosidase
(b) =zgene (i)  Permease
(c) agene (iif) Repressor
(d) yegene (iv) Transacetylase
Select the correct option.
(a) (b) () (d)
(1) @ () G 0w
2 @ MO ()  (iv) -
@ Gi) O Gv) (i)
4 (i (iv) @) (i1)

Which of the following features of genetic code does
allow bacteria to produce human insulin by
recombinant DNA technology ?

{1)  Genetic code is not ambiguous '

(2)  Genetic code is redundant 1
W Genetie code 1s nearly universal

{4)  Geneticcode is specific

Match the following hormones with the rﬂﬁpﬂd:k
disease ;

(@)  Insulin @),
(b)  Thyroxin (1)
(c) Corticoids (111)
(d)  Growth Hormone (iv)
_ . {v} ellitn:
Select the correct option. -
@ (b © @
EI} (v] o

o {h}



-{-ﬂl I-?’f&&cﬂntr&l

)ﬂ'./ Celfsin Gy phase :

) exit the cell cycle
(2) enter the cell cycle
(3)  suspend the cell cycle
(4)  terminate the cell cycle

Respiratory Quotient (RQ) value of tripalmitinis
(1) 0.9

2 0.7

(3) 0.07

40 0.09

Salect the correct group of biocontrol agents.

(1)  Bacillus thuringien sis, Tobacco mosaic
virus, Aphids

(2)  Trichoderma, Baculovirus,
Bacillus thuringiensis

'GB‘)/. Oscillatoria, Rhizobium, Tl mchoderma

(4) Nostoc, Azospirtl liwm,
Nucleopolyhedrovirus

.Sﬁ/ Match the Column - I with Column - 11 :

Column -1 Column -I1

P-wave (1) Depolarisation of
ventricles

QRS complex (i)  Repolarisation of

: ventricles

T - wave (i) Coronary
ischemia
Depolarization of
atria

Repolansation of

Eelent the nurrﬂcff I:‘-Pttﬂﬁ
(b) (o) .'.(53-‘
(1) 50 @ ) (iv)
@ @ @ @
o @ G © @
@ @ @ @ 6w

Which of the following contraceptive meth
involve a role of hormone ! 7

[actational amenorrhea, Pills, Em
contraceptives —

Barrier method, Lactational amenors -._
Pills L
CuT. Pille, Emergency contraceptives

(4) pills, BRmergency contraceptives, Barrier
methods

Due to increasing air-borne allergens & '3
pollutants, many people in urban areas .f_j:"
suffering from respiratory disorder caus -1
wheezing due to:

(1)  benign growth on mucous lining of nasal
cavity. |

27 inflammation of bronchi and bronchioles 5

(4)  proliferation of fibrous tissues and da ,4
of the alveolar walls. g

(4)
pneumocytes.

B‘/ A gene locus has two alleles A a. I'Ethe i%
of dominant allele A is 0.4, then what 0

frequency of hom nzggnuadmmnmﬂa, Z¥|
and homozygous recessive m@wﬁ 1s in th
I.Jﬂmﬂatl.un? 3

l]-} EIJ,EE {w A ; .{ -1{:"!,
.,l.-.q! EI&I”I “" | ;




e
Activating cyclic AMP located on the cell | 11

I

membrane. Aromosome 85 & MEASHIE
() Using aquaporin channels as second |  distance between Beneswas SXEEHEEEEE
‘messenger. 47 T.H.Morgan
A s | | Gregord. Mendel
1 -.fgfq.gpmmp_lsntﬂ. the f_em-ale gamete develops into @ Ai&id E'mﬂﬂmﬁﬁ.
i "m b pyo without fertilization. This phenomenon (9) e J
5 known as (4)  Sutton Boven —
T i o
| ﬂ:‘:ﬂ' SLogamY 11¥~ The conecept of “Omnis cﬂﬂulﬂ-ﬂC@m‘h‘s
] g{ Parthenocarpy cell division was firat pm];lgae_c_f hjl':
@) Syngamy (1)  Rudolf Virchow
i (4) Parthenogeness {2r Theodore Schwann
' : : (3)  Schleiden
" Which one of the following statements regarding :
AT S (4)  Anstotle
post-fertilization development in flowerng plants
| is incorrect ” " Phloem in gymnosperms lacks: (s
(1)  Ovary develops into fruit (1)  Albuminous cells and sieve cells
(2)  Zvgote develops into embryo (2)  Sieve tubesonly
(3) Centralcell developsinto endosperm (3) . Companion cells only : ¥
Ovules develop into embryo sac m/ Both sieve tubes and companion cells .

;Ei td:r EH A h ﬂ S

L i

10% Match the following organisms with the products . Match the following urganinmu“-w‘_i_ih théiﬂ‘ !
they produce : regpective charactersties N
(a) Lactobacillus (i)  Cheese (@)  Pila @  Flamecells
() Saccharomyces (i) Curd (b)  Bombyx (11) Eﬂlﬁ-hﬂlaﬁlﬁ
cerenisiae ()  Pleurobrachia (ii1) Rﬂd‘u]a
(@) Aspergillus niger (i) Citric Acid @ Taenia (v) Malpighian
(d)  Acetobacter acet (iv) Bread tuhulgﬂ e
' (v) Acetic Aad Select the correct option ﬁﬂ.mthéfnr L 1._:'
(@) (b) (c) (d) :
@ ) © @ " E ?ﬂ} @ g;} "
M @ G (i) &

L

Seleet the correct option. (1)

el @ Gy GO @ G 6 G @

® G G 0 )-
@ @ 6 @

% Tidal Volume and Expiratory Reserve Volume of

al Volume is 1200 mL?




EIt.rm peat resistant, with a gene from
Bacillus thuringiensis.

(@ It is drought tolerant, developed using
Agrobacterium vector.

(4 It has yellow grains, because of a gene
introduced from a primitive vanety of rice.

}I{. Which of the following immune responses 1s
responsible for rejection of kidney graft ?

(1)  Auto-immune response

(2)  Humoral immune response

{3} Inflammatory immune response
;4/ Cell-mediated immune response

9{ Which of the statements given below i1s not true

about formation of Annual Rings in treez ?
(1)  Annualring is a combination of spring wood
and autumn wood produced in a year.
(‘25/ Differential activity of cambium causes light
: and dark bands of tissue - early and late
wood respectively.
(3)  Activity of cambium depends upon variation
in elimate.

(4)  Annual rings are not prominent in trees of
temperate region.

What is the direction of movement of sugars in

phloem ?

(1) Non-multidirectional
(2y Upward

(3  Downward

,: Biﬂ .I.. I

by Tl e

?0l ‘ , 8 fine powder of recycled modified
Vnst; ~='a-_t_ uﬁm#edtaheg good material for :

A

1

m‘ Consider the following statements :

b

genes, represe

@)

A unit of dmtaﬁgqﬁﬁ ween
chromosomes, represe w
(4) A unit of distance J,hau e

] -*-. [}
508

nhrnmﬁanm&ﬂ, repruael___ g U A

Rt 1,

4

" s s '._
(A) Coenzyme or metalion that is tight ;;'ﬁ_“» .
to enzyme protein is nia]]edprnat h ro)

(B) A complete catalytic active en:a}-IE&
hound prosthetic group 18 called ap

Select the correct option.

Both (A) and (B) are true.
(2)  (A)is true but (B)1s false.
(3)  Both (A) and (B) are false.
(4)  (A)is false but (B) is true.

3. Which of the following can be used as a biocontr
agent in the treatment of plant disease ? 2

Trichoderma
(2) Chlorella
(3)  Anabaena

(4 Lactobactllus

A

Pinus seed cannot germinate and r
without fungal association. This is because:

(1) itsembryois immature,
W it has obligate association with mycorrhizae
(3) it has very hard seed coat.,

(4)  its seeds contain inhibitorzs that prev 311
germination. ol |

Which of the following is a commercial k *"
cholesterol lowering agent ?

Cyclosporin A
(2)  Statin
(3)  Streptokinase
(4)  Lipases

causative agent of t:,rphmd

fever
confirmatory test for typhoid. 2

m ”“mﬂmuﬂw

'..:-\._. I"-—‘-

%-5' @4.{&5;3, 1lc
u] ‘4-..:1 Ir':*-'d‘-'”.l... =f



f“"}_ Eymhiﬂﬁﬂ association of
a]gliﬂi Bnrl fl.mgl
, “ﬂm*nhmntanﬂwerﬁnm the options given

(d)
(iv)
(iv)
(1v)
(1)

it 't_hetwa-en 3 to 3.3 kg survive whereas 99%
thgmfnntﬂ born with weights from 2 to 2.6 ke
4.5&1 5 kg die. Which type of zelection process

rﬁ tahng place ?
ﬁj' Directional Selection
y '_ Etab:hzmg Selection
@ Ehsruptwe Selection
“’ﬁ} Cyclical Selection
i Eﬂ]luwmg statements describe the characteristics

“ofthe enzyme Restriction Endonuclease. [dentify
‘the incorrect statement.
(I} Theenzymecuts DNA molecule at identified
. pogition within the DNA.
The enzyme binds DINA at specific sites and
cuts only one of the two strands.
The enzyme cuts the sugar-p hosphate

-

iﬂi

hackbone at sp ccific sites on each Etmndf
{d ¢111C
@) 'The enzyme recognizes @ BpE
" palindromicnucleotide sequence i the DNA.
R0 Eﬂm the incorrect statement.
u} Male fruit fly is hetero gamefic, 3
ers, 50% of sperms have

“'.,,.! In male grasshopp

- nosex-chromosome. b ooy

"'5.11 'Ih domesticated fowls, sex O LIE
 depends on the t‘-&'PE“fEF'Em

Goblet Cells
Oxyntic Cells

(4)  Dupdenal Celle

The Earth Summit held in Rio de Janeiroin 19928
was called :

133.

to reduce CO, emissions and global L]
WATTINE,

(1)

#

{2y for conservation of biodiversity _aﬁlﬂ."?
sustainable utilization of ite benefits.

tn assess threat posed to native species by
invasive weed species.

(3)

for immediate steps to c'ijscr:-ntinua-'us'e'-lni'-lll
CFCs that were damaging the ozone layer,

(4)

3

)ﬂ/“’hat triggers activation of protoxin to ar:‘::wEB‘h‘

toxin of Bacillus thuringiensis in boll wnrm Nk

(1)  Body temperature

(2)  Moist surface of midgut
4{ Alkaline pH of gut
(4)  Acidic pH of stomach

A
Which pﬁﬂ- l',lf the 'I:lrﬂ.l:tl IE,T:H.EP *;Iq_ilfﬂ'
thermoregulation ?

{1} C-ereh:mm

Ll
fII'|I.|_

-ﬂm@h allosum.

' )




}ﬂﬁ Among the following, the reaction that proceeds

X

gquare planar
distorte ﬂﬂf!'tﬂhﬂdfﬂl
aquare pyramidal

(b) ) (d)
1, @O @ @G G

@/ Gy G Gy @
@ @ @ @O
@ G Gv 0 @)

19, Which is the correct thermal stability order lor
H,E (E=0, 8, Se, Te and Po) ?

(1) H,S<H,0< Ho,Se < H,Te <H PO
2) H,0 <H,S <H,Se <H,Te < HyPo
@1~ H,Po < H,Te < HySe < HyS < Hy0
(4) H,Se<H,Te<H;Po<H,0<H)S

through an electrophilic substitution, is

L8 Cu, Ul
(2) ©+Glaﬂ1* @m-mm
1 Cl

Cl

Cl Cl

(1) (a)and (b)only
,@1/ (a), (b) and (c). +

(3) (a),(c)and(d)

(1) (a)and(d) only

of water 18 :
(1)  Calgon’s method
9 Clark'smethod
(37  Ion-exchange method
(4)  Synthetic resing method

For the chemical reaction
Ns(g)+3H,y(g) = 2ZNH,(g)

the correct optionis;

(1) = l ﬂ_.:.l..l = — l dmﬂﬂ-l
3 dt 2 dt
o - ANal _, dINH]

dt

dt

M d[N,] _ 1 d[NH;]
2  dt

141. The method used to remove temporary ha dns|




—

g b

= o i
145, *L manganate and permanganate inns gre
el |

O brahedral, due to:

e

e

ﬁ‘j There is no - bonding

-'1  The hqndm_gmmlvﬂﬂuver]ap of p-orhitals
of oxygen with d-orbitals of manganese

E‘i} ‘The - bonding involves overlap of p-orbitals
nfu;ggen with p-orbitals of Manganese

) The 7 bending invalves overlap of d-orbitals
of oxygen with d-orbitals of manganese

The number of moles of hydrogen molecules
m[mmd tﬂpru-du:e 20 moles of ammonia through

Hﬁ.h!ﬂfﬁ Process is ;
{IJ _lﬂ

147, ‘iﬁﬂ at 850 K and 15 bar has melar volume
mFﬂTﬂﬁnt amaller than that for an ideal gas under
ﬂlﬂﬂﬂﬂ conditions. The correct option about
mﬂjﬂﬂ and its compressibility factor (£)187

?{ﬂl make basic huffer ?

E_--Jvﬂ-

"IE'.]I. E}H .
.. ; Lﬁ-.lr_"

EFhlrJm_[,.-;fr;_uM{]H COOH + 100

gl@ Z>1 and attractive forces are dominant
i,i'i Z>1and repulsive forces are dominant
*@ Z<1 and attractive forces are dominant
Z < 1and repulsive forces are dominant

i MmL of 0.1 M NaOH +25 mL of 0.1 M

0 mLcrf

150. The major product of the fql] o

|,.I'.'.|

CODH | 4y
d Bt["l] -h'ﬂﬂ = ..-.
N h”,;
iy
COOH &
COOH
.fl'
(1)
‘\\"‘-.
CONH,
0

COOH
NH,

)i./ﬂumusate hase. fl‘-'l" -L' nsted ac nd HE
-are i b
r g I : II




] %Whi;chnfthefuliuwmgspemams not stable 7

) [SiFg1*
@) [GeCl2
(@ [SnOH)g|*~
@) [SiCl*

154. Which mixture of the solutions will lead to the
formation of negatively charged colloidal [Agl]l—
sol. ?

(1) SH0mLoflMAgNO;+50mLofl1.5MEKI
(2) B0mLof1MAgNO,+60mL of 2 M KI

(3} aSDmLofZMAgNO,+50mbLiof 1.6 M KI
(4) H0mLof0.1MAgNO;+50mLof0.1 M KI

]ﬁ{ Which one is malachite from the following 7
,ﬂ{ CuFe5,

(2)  Cu(OH),

{31 FegOy

¢

158,

T ol
_ﬁqmqlhr..;

Match the following :

) Purenitrogen ()  Chl :
(b Haber process (1) Eﬂ _l
ic) Contact process

(dy  Deacon'sprocess (iv)

Which of the following 1s the correct upﬁn : ,

(a) (b) () (d)
n ® @ @) a9
@ @ v O G0
@ ) Gv) W @
W o @ @ 6

Among the following, the narrow spec trul
antibioticis:

(1)  pemcillinG

(2)  ampicillin |
(3  amoxycillin ‘4
(4)  chloramphenicol

Which of the fullnme
hydrnx.uie" :



e bl
) C€l-CH,-CH,—CH
L |
CH,

rH Cl
@ HC- LH.,—n:H CH,

CH,
|
@ HC- LHE—II_- ~CH,

C1

i ;‘ﬁm hiﬂdegrada ble polymeris:

l.-!-\.l_-

i:v.m nylon-6, 6

¥ L
lllllllll

A0 (CHyy! '=-£EH3JENH='. ;

't._.p'

(4) OH. NH;}[GHH}QNHH'EGH ﬁ'

166. What 15 the correct electromic ¢q rltl-gﬁiﬁ

the central atom in K [Fe(CN),] based on ery

feld theory ? ‘" I
(1) '*1: e'f
@ tog e
@ et
@ el

(T( Among the following, the one that ia nnt a'
green house gagis

(1} nitrouvsoxide

(2)  methane
ﬁ.‘l-""'umne
(4)  sulphurdioxide ‘

/388) A compound ia formed by cation C and an:

lattice and the cations aceupy ‘lﬁ
voude. The fﬂl'mﬂlﬁ of thﬁmm pound 18

|




'Ehammynunﬂ that is most d:fﬁcult to protonate

g Moy
I+

%d. 5p, 5f and 6p orbitals are arranged in the order
‘ of decreasing energy. The correct optionis:

(1)
() Gp=5f>5p=4d

\ @j/ 6p>of>4d>b5p

(4) 5f>6p>4d>5p

bf > 6p > 6p > dd

172. The mixture that forms maximum boiling
‘azeotrope is

(L)  Water + Nitric acid
(2)  Ethanol + Water
@ Acetone + Carbon disulphide

‘r.a:

@ 0126%10717

@ 05x10-10

Which of the following series of mnﬁiﬁ" : 0
apectrum of hydrogen atom falls in visik

region ?

(1) Lyman series
(#) Balmersemnes
(3)  Paschen series
(4)  Brackeit series

Z?ﬁdﬁntl fy the incorrect statement related to E 0|
from the following :

(1) Three equatorial P— Cl bonds make ana AT

of 120° with each other

(2)  Two axial P— Cl bonds make an angle of 180
with each other

(3)  Axial P—Clbonds are longer than ec

P —Clbonds

\.,(41/' PCly molecule is non-reactive

‘y';"{ The most suitable reagent for the fol lowin

Eﬂ“‘n’EI‘Elﬂﬂ 18




(1)

150,

()

(2)

(3)

(4)

: Bt Llls
The correct structure Dfirlhrﬂmﬂﬂﬂtﬂﬂ!li?éﬂ_;

(1)

(2)

)

...........
_____
o
o0

— 46.92 kJ mol !

— 93,16 kJ mal !

46,32 kd mol —!

2916 kel mol ™

&
i

(3]
D.i:;- i .-;-n
O=Br—Br—Br=0
& i o)
) 0 (8]
0 il é‘ﬂ 23
ﬂtfr- Br—Br—-0
[ e
D n“' D
0" 5 ]
= U%_ [ f’u £
O-Br—Br—Br=0 L

Rl I i

0 0 ()
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